APPENDIX
DOCUMENT FEEDER HANDLE TYPE 5 INSTALLATION

ACCESSORY CHECK LIST
Check the quantity and condition of the accessories against the following list.
No. Description Parts No. Q’'ty
1 | Handle Unit B8621100 1
2 | Holder B8621300 1
3 | Stud Bracket B8621181 1
4 | Securing Bracket B8621186 1
5 | Handle Bracket B8621211 1
6 | Hinge Stopper - Right B8621242 1
7 | Hinge Stopper - Left B8621241 1
8 | Spacer AA132208A 1
9 | Bushing - M6 07413906 1
10 | Bushing - 6MM 50530447 1
11 | Tapping Screw - M4 x 8 04514008N 4
12 | Tapping Screw - M3 x 12 04503012N 2
13 | Tapping Screw (Self Binding) - M3 x 12 04523012N 2
14 | Screw - M3 x 8 03603008N 3
15 | Operation Decal B8626013 1
16 | Stud Decal B8626012 1

B8621516.JPG




INSTALLATION PROCEDURE

NOTE: This installation procedure uses the following symbols.
&: Screws

/\CAUTION
Turn off the main switch of the copier and unplug the power cord before
you start the installation procedure.

1. Open the ADF unit.

b862i501
B862I501.PNG

2. Hold the securing bracket [A] at the location [B], inside the ADF cover.

3. Secure the stud bracket [C] to the outside of the ADF cover at location [D] with
two screws (M3x8: & x 2). The two screws must go through the ADF cover and

the securing bracket [A].

4. Make two screw holes [E] in the 3

scanner right cover with an M3x12
tapping screw from the accessories.

B8621515.JPG



. Attach the holder [A] to the scanner
right cover (Tapping Screw - M3x12: &
X 2).

NOTE: At first, secure the screw at the
rear side (away from the
operation panel) temporarily
and then at the front side
temporarily. After that, secure
them fully.

| [A]

B8621509.JPG

Install the bushing - 6MM [B]
in the inside of the handle
unit.

Install the handle unit on the stud bracket.

Install the bushing - M6 [C] first, and
then the spacer [D] in the outside of the
handle unit.

B8621510.JPG

Secure the handle unit with a screw
(M3x8: & x 1).

B8621514.JPG



10. Clean the handle unit with alcohol.
Then attach the stud decal [A] at the
location that was cleaned.

B8621511.JPG

11. Attach the handle bracket at the front
right side on the bottom of the ADF unit
(Tapping Screw [Self Binding] - M3x12:
£ x2).

12. Close the ADF unit.

B8621503.JPG

13. Attach the hinge stoppers (left [C] and
right [D]) to the left and right hinges
(Tapping screw - M4x8: & x 2 each).

[D]

B8621504.JPG



14. Clean the front side of the duplex unit
with alcohol. Then attach the operation
decal [A] at the location that was
cleaned.

B8621505.JPG

15. Check the operation of the handle unit [B].

B8621506.JPG



